BK Bridgehuset

Liga Rond 3del 1

IMP over faltet, 12 bord, 24 par. Antal brickor: 12.

Plac Par Poang Namn MID Klubb
1 18 219 Mats Ryderheim - Magnus Friberg 55082 57935 BK Bridgehuset
2 22 191 Mari Segerberg - Judit Derzsi-Jalgard 45646 52692 BK Bridgehuset
3 24 181 Bengt Ungesson - Thomas Davy 49958 60200 BK ESS-I0v - BK Bridgehuset
4 3 175 Magnus Wegestal - Jonas Tjarnemo 91149 65741 Malmo BK - LUCK
5 2 129 Kicki Orre - Kjell Ake Nilsson 27718 14638 BK Bridgehuset
6 9 109 Jolanta Nilsson - Alicia Carlsson 27775 94222 BS Oden
7 1 107 Lotta Lundberg - Bengt Nilsson 43210 5797  BK Bridgehuset - Malmé BK
8 7 77 Stefan Rosenberg - Olov Hagerfors 87804 20790 Malmd BK
9 23 66 Arne Bojesson - Christian Séderlund 58554 38195 BK Bridgehuset - Falsterbo BK
10 4 56 Agneta Johansson - Jane Brandemar 4760 55146  Pri-Bri 1936 - BK Bridgehuset
11 5 43 Hakan Linse - Marianne Ahlner EImqvist 28719 56841 BK Bridgehuset - Malmd Dam BK
12 20 39 Claudia Sjoberg - Christer Ekberg 55585 94047 Lunds BK - Pri-Bri 1936
13 8 -39 Gun Bellander - Christina Leander 3638 30482 BK Bridgehuset - Malmd BK
14 17 -43 Marianne Servin - Ulla Oberg 48631 45490 BK Bridgehuset
15 16 -56 Helene Carstam - Ragnar Carstam 92503 27206 Lunds BK
16 11 -66 Anita Olofsson - Mona Berge 91041 80499  Pri-Bri 1936 - BK Bridgehuset
17 19 =77 Anders Freij - Karin Brundell-Freij 5548 5547  LUCK
18 13 -107 Lars Persson - Pia Katarina Larsson 40205 37352 Malmd BK - BK Bridgehuset
19 21 -109 Kent Hermansson - Lars Becklén 94292 80419 BK Bridgehuset - Malmo BK
20 14 -129 Klas Bellander - Olle Persson 4541 23285 Malmd BK
21 15 -175 H.O. Thulin - Mats Martensson 79375 37097 Skovde BA - Lunds BK
22 12 -181 Johnny Nielsen - Dennis Alsensjo 83584 54201 BK Bridgehuset
23 10 -191 Nils Lindblad - Goran Ekelund 45315 26627 BK Bridgehuset
24 6 -219 Bjorn Karlsson - Ann Bomark 59509 59508 BK Bridgehuset
25 4 D109 Basta kontrakt 26 4 D654 Basta kontrakt 27 4 E10973 Basta kontrakt
Nord v 10432 3NT N =400 Ost vKn10974 5¢ O D-2500 Syd vE3 34 S =140
ov + E104 Alla + EKn62 Ingen + D85
#EKn9 & ¢ v & NT »- & ¢ v & NT #652 & ¢ v & NT
4 EKN754 43 N6 7999 4 E97 4 K108 N 4 4 107 6 « DKn4 4652 N7 87 98
v 87 v EDKn S679 938 v8 vE3 S 4 3 107 6 v97 vKD1052 S6 97938
+ Kn76 ¢ D953 O7 6 4 44 ¢ K10987 ¢ D543 089357 ¢ Kn10732 +6 06 46 45
#1076 #D5432 V6634414 #K432 #DKn96 V89357 #Kn107 #EKA43 V6464414
& K862 4 Kn32 4 K8
v K965 v KD652 v Kn864
+ K82 .- + EK94
#K8 #E10875 «D98
Par Kontr Ut Res Poang Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang
6 18 2NO-3 v5 300 350 -350| 9 21 4vyDS= &3 790 99.0 -99.0| 8 20 3NS= v9 400 77.0 -77.0
10 22 INO-3 v6 300 350 -350| 1 13 4v S= K 620 58.0 -58.0| 1 13 INS+3 ¢2 180 16.0 -16.0
12 24 INO-3 5 300 350 -350| 3 15 4vS= *2 620 58.0 -58.0|10 22 34 N+1 #K 170 16.0 -16.0
7 19 INN+3 &2 180 -7.0 70| 4 16 4v S= ¢7 620 58.0 -58.0| 3 15 2NS+1 v9 150 5.0 -5.0
2 14 1v N+3 &2 170 -10.0 100 7 19 4v S= 3 620 58.0 -58.0|11 23 INS+2 &4 150 5.0 -5.0
315 2¢v N+2 &3 170 -10.0 100 ({10 22 4y S= +3 620 58.0 -58.0| 2 14 24 N+1 #A 140 5.0 -5.0
4 16 2v S+2 &6 170 -100 100 2 14 44DO-1 vK 200 -37.0 370( 7 19 INS+1 ¢9 120 -6.0 6.0
517 1v N+3 &4 170 -10.0 10011 23 3v S+1 7 170 470 470( 5 17 3¢ S= v9 110 -7.0 7.0
8 20 3vy S+1 4A 170 -100 100( 5 17 3v S= ¢9 140 -53.0 530 9 21 24 N= vK 110 -7.0 7.0
9 21 3y N+1 &2 170 -10.0 10.0(12 24 3v S= ¢7 140 -53.0 53.0(12 24 24 N= A 110 -7.0 7.0
113 2¢v N+1 &3 140 -19.0 190(| 8 20 4v S-1 &3 -100 -99.0 990 4 16 Pass -41.0 410
11 23 2v N+1 3 140 -19.0 190 6 18 3¢ V= vJ -110 -100.0 100.0| 6 18 3NN-1 K -50 -56.0 56.0
28 a- Bésta kontrakt 29 4984 Bésta kontrakt 30  Kn83 Bésta kontrakt
Vast vED107 5¢ N =600 Nord v532 3NT O =-600 Ost v KDKn76 INT O =-90
NS + 642 Alla + Kn1093 Ingen * K2
#1075432 & ¢ v & NT #E106 & ¢ v & NT #Kn73 & ¢ v & NT
4 Kn9875 4 ED1064 N 11119 6 8 4 KD5 4 EKn10 N4 3443 41072 4D64 N667 76
v 652 v Kn984 S 11109 6 8 vD9 vK1076 S 43443 v53 vE1042 S6 6776
+D5 ¢ K83 022373 ¢ EKD876 ¢ 42 O 8 109 9 9 ¢ED73 ¢ 1096 O7 7667
#Kn98 «D V22373 »87 #KKn43 vV 8 108 9 9 #K1086 #E54 V77€6¢67
4 K32 47632 & EK95
vK3 v EKn84 v98
+ EKn1097 +5 + Kn854
#EK6 #D952 «D92
Par Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
2 14 54 N= «Q 600 112.0 -1120( 7 19 6¢ V-2 &A 200 108.0 -108.0| 1 13 INN+1 6 120 26.0 -26.0
3 15 54 N= A 600 112.0 -1120| 3 15 3NO-1 &5 100 88.0 -88.0| 9 21 2v N= ¢T 110 23.0 -23.0
517 3¢ S+2 «J 150 16.0 -16.0| 8 20 BNO-1 45 100 88.0 -880| 3 15 INN= ¢T 90 15.0 -15.0
7 19 4¢ S= 45 130 10.0 -10.0| 9 21 3NO-1 #2 100 88.0 -88.0|11 23 INN= ¢T 90 15.0 -15.0
10 22 34 O-2 #A 100 0.0 0.0 517 3¢ V+1 4«4 -130 470 -47.0| 2 14 14 S= v5 80 140 -14.0
11 23 34 O-2 vK 100 0.0 00| 1 13 3NV= ¢J -600 -55.0 55.0|10 22 14 S= 6 80 14.0 -14.0
416 34 0-1 &A 50 -140 140| 6 18 3NO= #2 600 -55.0 55.0|12 24 14 S= 42 80 14.0 -14.0
921 340-1 &A 50 -14.0 14.0|10 22 3NV = ¢J -600 -55.0 55.0| 820 2#0-1 ¥8 50 3.0 -3.0
113 5#4N-1 +8 -100 -53.0 53.0|12 24 3NV= 49 -600 -55.0 55.0| 7 19 Pass -13.0 130
820 54 N-1 &4A -100 -53.0 530 2 14 3NO+1 ¥4 -630 -63.0 63.0| 517 14 S-1 2 -50 -32.0 32.0
6 18 24 O= #A -110 -53.0 530 416 3NO+1 ¥4 -630 -63.0 630| 6 18 2NN-1 T -50 -32.0 320
12 24 24 O+1 &A -140 -63.0 63.0|11 23 3NV+2 43 -660 -73.0 73.0| 4 16 2NN-2 #4 -100 -47.0 47.0
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31 4 K653 Basta kontrakt 32 4108 Basta kontrakt 33 43843 Basta kontrakt
Syd v Kn76 3V =-110 Vast v EDKn876 34 V =-140 Nord v KKn102 3NT N =400
NS + EKDKNn96 oV 41063 Ingen 4 87532
»- & ¢ v & NT &D7 & ¢ v & NT &8 & ¢ v & NT
sE «DKn1l0742 N 3 8 8 5 7 4Kn93 & E654 N357 46 & Kn52 & 1097 N6 89 99
v EK92 v10 S 38858 v 943 v2 S35746 vE4 v 9863 S689 909
¢ 742 +83 0944765 ¢+ ED7 ¢ K542 O 108 6 9 7 + D9 ¢+ EKn104 O75 434
&#EKN1087 #9432 V945765 &#E1093 #K864 V 108 6 9 7 &#DKn7642 #K9 V74434
498 & KD72 & EKD6
v D8543 v K105 v D75
+ 105 + Kn98 + K6
&KD65 &Kn52 #E1053
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
517 3¢ N+1 T 130 490 -490(| 1 13 2v S+1 &3 140 370 -370| 1 13 INS+2 &2 150 38.0 -38.0
113 3¢ N= vT 110 40.0 -40.0| 6 18 2¢v N+1 ¢4 140 37.0 -370| 5 17 2NS+1 &7 150 38.0 -38.0
4 16 3¢ N= vT 110 40.0 -40.0(10 22 2vy N+1 &4 140 37.0 -37.0| 8 20 2NS+1 #Q 150 38.0 -38.0
719 44 O-2 3 100 40.0 -400( 2 14 2v S= 3 110 250 -25.0|11 23 INS+1 &Q 120 30.0 -30.0
315 240-1 T 50 23.0 -23.0| 4 16 2v S= v3 110 25,0 -25.0| 3 15 14 S+1 vA 110 25.0 -25.0
12 24 44 V-1 ¢A 50 23.0 -23.0|11 23 2v S= 3 110 25.0 -25.0|12 24 2& V-2 8 100 21.0 -21.0
2 14 3¢ N-1 T -100 -20.0 20.0| 9 21 Pass -6.0 60| 2 14 1S= a2 70 14.0 -14.0
6 18 3¢ N-1 T -100 -20.0 200| 5 17 2v S-1 a3 -50 -23.0 23.0| 4 16 3NN-1 v6 -50 -22.0 22.0
8 20 3¢ N-1 T -100 -20.0 200 7 19 2vy N-1 %6 -50 -23.0 23.0| 6 18 24 S-1 vA -50 -22.0 22.0
921 3¢ N-1 T -100 -20.0 200| 8 20 2v S-1 v3 -50 -23.0 23.0| 9 21 24V = LY:] -90 -34.0 34.0
11 23 3¢ N-1 T -100 -20.0 20012 24 29y N-1 2 -50 -23.0 23.0|10 22 44 S-2 vA -100 -38.0 38.0
10 22 4vDS-2 &4A -500 -115.0 1150 3 15 3vyDN-2 ¥2 -300 -88.0 88.0| 7 19 2NDS-2 #4 -300 -88.0 88.0
34 4 ED982 Basta kontrakt 35 47643 Basta kontrakt 36 a- Basta kontrakt
Ost v4 5v OD-2300 Syd v DKn9 34 V =-140 Vast v KKn43 5& N D -2 -500
NS + Kn1053 ov +984 Alla ¢ 9754
&DKn4 & ¢ v & NT &K75 & ¢ v & NT &DKn987 ¢ v & NT
47654 &Kn3 N8 8 487 4KD85 #E109 N7 5 4 45 496 «#KDKn10754 N 9 6 8 3 5
vE108 ¥DKn9753 S 109 4 107 vE1063 v8754 S75 445 v D76 v82 S96 835
¢ ED42 ¢ 86 034934 ¢+ D2 + EK105 O6 89 9 8 ¢ K1032 ¢ EDKn O4 6 3 105
&#K10 #653 V349 34 &#Kn86 #32 V689 98 &#E432 6 V 4 6 3 105
4 K10 & Kn2 & E832
v K62 v K2 v E1095
+ K97 ¢ Kn763 + 86
#E9872 &ED1094 K105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
113 INS+2 ¢4 150 56.0 -56.0| 8 20 INS+1 v6 120 47.0 -47.0| 4 16 24 O+2 ¥5 -170  105.0 -105.0
2 14 24 N+1 +8 140 55.0 -55.0| 2 14 4v O-1 &J 100 40.0 -400( 6 18 24 O+2 +6 -170 105.0 -105.0
517 1a N+2 vQ 140 55.0 -55.0| 4 16 4v V-1 +9 100 40.0 -40.0| 1 13 44 O= +8 -620 -6.0 6.0
11 23 24 N= vQ 110 440 -440| 7 19 4v V-1 &5 100 40.0 -40.0| 2 14 44 O= +8 -620 -6.0 6.0
921 3¥vO-1 &K 50 27.0 -27.0|10 22 4v V-1 &5 100 40.0 -400( 3 15 44 O= +8 -620 -6.0 6.0
4 16 34 N-1 v9 -100 -15.0 150 3 15 INS-2 v3 -100 -20.0 200 5 17 44 O= +8 -620 -6.0 6.0
6 18 24 N-1 vQ -100 -15.0 15.0 |11 23 44 S-2 vA -100 -20.0 200 9 21 44 O= &K  -620 -6.0 6.0
315 2vV+l v4 -140 -27.0 27.0| 1 13 3v V= ¢4  -140 -31.0 31.0|11 23 44 O= +8 -620 -6.0 6.0
719 3v 0= oK -140 -27.0 270| 5 17 3v V= &5 -140 -31.0 31.0|12 24 44 O= +8 -620 -6.0 6.0
12 24 29y O+2 o7 -170 -36.0 36.0| 9 21 3vV= &5 -140 -31.0 31.0| 7 19 44 O+1 &5 -650 -15.0 15.0
10 22 34 N-2 38 -200 -45.0 45012 24 2v O+1 &) -140 -31.0 31.0| 8 20 44 O+1 8 -650 -15.0 15.0
8 20 3NS-3 v8 -300 -72.0 720| 6 18 3v V+1 +9 -170 -43.0 43.0|10 22 24D O +3 &5 -1270 -138.0 138.0
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